N = 0l & At & M A

2015 = =0 & L3 B 2e|

SA: BEBAD
M NoHsdES(8#ZE5/82E85Yt)
Sl BT (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
sZ2el 5,754,686 6,894,398 AN 1,139,712
= 1,792,018
X 126,000
J| 198,000
< 703,083
Al 2,935,585
AAsZES (P25 /832528 4,750,019 6,146,982 A 1,396,963
= 1,586,300
X 126,000
J| 198,000
< 649,150
Al 2,190,569
sSFZH 1,253,400 1,010,285 243,115
= 268,800
Xl 126,000
= 115,200
Al 743,400
S A=A 58,900 68,185 A9,285
201 £B-2dH| 22,250 31,475 A9,225
01 At 22l 17,820 26,820 A9,000
O1.det==2H| 10,800
- Esag g2l 5,400,000 5,400
-AHAES AL LS| 5,400,000 5,400
O3.2d=¢ 980
-—SAHS FUEXN YL UE ZAMS
280,000& x1&H *13] 280
SIS HALY
70,0003 «10H *13] 700
O5. 2 &l 5,040
-2 EEANY FE A2 REX SA
7,0003 x5« 12 128 5,040
O6.9 1tz 1,000
“NAESHAXNR X A X 500,000 +2CH 1,000
03 A2 Z Hl 4,430 4,455 A 25
OgZe & A 2,000,000& 2,000
O=sMHsS A3 R 2,430,000 2,430
202 Odl 7,560 7,560 0
01 = LH 4 Hi 7,560 7,560 0
Ostzdd & &83n=s RFANHI
60,0003 «6H +x3 +73] 7,560
301 et Az 11,200 11,200 0
09 BAAHIE &S 11,200 11,200 0
OAZ MHHES MOILE & =303 It o
=]l 60,0003 «20QH 43 4,800




SA: BEBAD
M NoHsdES(8#ZE5/82E85Yt)
Sl BT (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ONHEIEN JUNCRE EsHEH
10,0003 #1209 *23| 2,400
OXg&Estes A 2HA
2,000& *1,0009H »23| 4,000
307 glz2+ol & 17,890 17,950 A B0
02 It M AHE X 13,900 13,950 AB0
ogauae|l =5dstats N
8,100,000 8,100
O"atzae|d S3dHs & ZANES
4,000,000& 4,000
Odtd Zstgs & AH 1,800,000 1,800
04 DIZHHALALSE E X 3,990 4,000 A10
OMEfH wE RoHAHHSE EIICHE
5,700,000& *70/100 3,990
SO EME & XNSHEAL(EX) 652,800 540,000 112,800
= 268,800
< 115,200
Al 268,800
402 RIZ2EXt20l M 652,800 540,000 112,800
= 268,800
< 115,200
Al 268,800
02 2I2HCH & A S HI 652,800 540,000 112,800
Os=dolEXMel ¥ XISMHEASHI
652,800,000 * 14! 652,800
= 268,800
= 115,200
Al 268,800
zergdstn 23 244,000 244,000 0
201 Let24E] 44,000 44,000 0
01 At 22l 40,000 40,000 0
Oe6. 21z 40,000
-gZstn HeR= 40,000,000 40,000
02 2324l 4,000 4,000 0
O3. A& & Hl s Xl bl 4,000
-2 dstl) HAE2SXdl(1,260m) 4,000,000 4,000
307 glz2+ol & 200,000 200,000 0
05 RIZt2E = 200,000 200,000 0
Oxsgedstu2 g A& 200,000,000 200,000
e 25 2 SFIsHeg N2 80,000 80,000 0
306 =93 30,000 30,000 0
01 &3 30,000 30,000 0
OZ=XNIGZIIsMgHe X
30,000, 000& 30,000
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A BH22 0
Ha: NOHALS(HABE/HFRSUY)
Sl BT (B9 ®R)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
403 XX SHHS K20 ™ 50,000 50,000 0
02 Z2J|2tS 0l CH SHCH & A HI 50,000 50,000 0
O3SHH MEfMS X 2SAY XS
50,000, 000& 50,000
SAEBNMAMAG XS 70,000 70,000 0
307 2iz2to| & 70,000 70,000 0
02 QIZIA AAIE E X 70,000 70,000 0
OXLItss ZE2HES2 AFAIY I
70,000,000& 70,000
TNALBSIEA L BHAX (AL A0 )R K& 7,700 8,100 A 400
307 2Iz2t0| A 7,700 8,100 AN 400
04 SIZ2ISHAAISHE E X 7,700 8,100 A 400
OXNHESIIEAl 2 il (AL A0l )CH 3
11,000,000 *70/100 7,700
NS MESUSHASAIG (EX) 140,000 0 140,000
Xl 126,000
Al 14,000
403 XX SHHMS K201 A 140,000 0 140,000
Xl 126,000
Al 14,000
02 SII2S 0 CHsHOH e A I 140,000 0 140,000
ON2=02lE SHo? satag
140,000,000& * 14! 140,000
Xl 126,000
Al 14,000
OIMESASES 68,435 73,461 A5,026
= 15,000
Al 53,435
OF M Z= 4= TI| of Ol & 18,435 16,460 1,975
201 et 6,710 7,360 A 650
01 AP 2t 2] d| 2,210 2,860 A 650
O1.Bt==H| 2,000
-So0tMESE L& OS2 M
20,000 *1000H 2,000
0O3.82dxd 210
=R BANORE BALY
70,000 «3H x13| 210
02 232%H4| 4,500 4,500 0
O1.2Z22=2L Al 4,500
-OfMESESIHEXNE 8EE=
150, 000& »30H 4,500
206 M = dl 2,000 0 2,000
1 HZ bl 2,000 0 2,000




AN EF 2l
Ha: NOHALS(HABE/HFRSUY)
el OIMESAZEES (9 ® =)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ONtMESE IR RFRU
1,600& x5 104 *»25 2,000
301 LBtE A= 2,725 2,100 625
09 AL HIZ &S 2,725 2,100 625
OfRMESES Z&2RNH 24
7,000& «10H «32 103 2,100
OOrMESES Ol A X L&
25,000& 25X 625
307 glz2tol & 7,000 7,000 0
02 It M AMHEE 7,000 7,000 0
OOlMME 22| L ZT&E &5 3,000,000& 3,000
ORI ESS mo&XE &5 3,000,000 3,000
ONtMESE S8 ZAES 1,000, 000& 1,000
OIMSAZE BSAIE(BX) 50,000 57,001 AT,001
< 15,000
Al 35,000
101 @124 dl 20,000 22,001 A2,001
< 6,000
Al 14,000
4 JI12ZtHZE2XREES 20,000 22,001 A 2,001
OOfds=2AIE 12| 20,000,000& 20,000
< 6,000
Al 14,000
301 et A3z 30,000 35,000 25,000
< 9,000
Al 21,000
1MIIEBELSS 30,000 35,000 A5,000
Ot ESEIloiszEs 243 30,000, 000& 30,000
< 9,000
Al 21,000
HdIIREsx B8 € 2= 580,000 695,500 A 115,500
= 440,000
= 70,000
Al 70,000
HMIINSA BES(EX) 580,000 695,500 A 115,500
= 440,000
< 70,000
Al 70,000
402 RI2EX=20l A 580,000 260,000 320,000
= 440,000
< 70,000
Al 70,000
01 It 2 AL E X 580,000 260,000 320,000
OHIINESI B3 22,000, 000 *20CH 440,000
= 300,000




A BH22 0
Ha: NOHALS(HABE/HFRSUY)
ool ®INSK 23 2 2E CERED
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 70,000
Al 70,000
OsHdelTe x| 7,000,000 *20CH 140,000
= 140,000
S| 347,650 267,740 79,910
= 110,000
Al 237,650
A Bt 127,650 27,740 99,910
201 et 9| 18,010 18,100 A 90
01 AP 2t 2] d| 17,350 17,440 A 90
O1.Bt==H| 12,610
-QH L2t Yt 2H| 3,600,000 3,600
QLU AZHA =28
10,000 *7J4 2~ *103] 700
- A QAAD H|A BHHIE P2
2,100,000 %274 £ 4,200
ot olE BAsOl AFHAAN A4E
130,000 153 1,950
SHQYUCAMN RMULY 7Y
120,000 »88+ A 960
-UFANE EEG ol 30,000 *40JH 1,200
O4.101=24| 720
- AQAAID Y XNEHH 720
EUN == 130,000 x4 H 520
gt Hl 3t 50,000& »4H 200
05.2 2l 2,520
24 2 AT ADHe A
7,000 *3Hx10L *12& 2,520
O6.9x2 1,500
LA QQA ADHE EH UIXEEIR)
500,000 33| 1,500
02 232%4| 660 660 0
O1.2Z22=22L Al 660
-FEQEAD Y EEE €S RER2
300& x2, 200%& 660
202 o4 | 5,640 5,640 0
01 2L HI 5,640 5,640 0
OLH#=2e ZR2F&0id]
60,0003 *3H *3L *63] 3,240
Oas4d 2 QHS A2 o4
60,000& 2H 22 %103 2,400
206 M Hl 4,000 4,000 0
1 MHZ bl 4,000 4,000 0




2N
X ZH -
L= B

el

SERTR
NOBEES (BADS/BELBAY)
sEod

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O=Z2&8 At U8l 2MEH 2L
4,000,000 4,000
207 A RO 2| 100,000 0 100,000
01 gAY 100,000 0 100,000
ONENSHETA N e 2
100,000, 000& 100,000
HZADUAY(RE) 220,000 240,000 20,000
< 110,000
Al 110,000
402 RI2EX=0| M 220,000 240,000 A 20,000
< 110,000
Al 110,000
02 RI2HCH & AF S HI 220,000 240,000 A 20,000
OFR=SAEE AL A
20,000,000& *11H £ 220,000
< 110,000
Al 110,000
H2el 1,562,758 3,537,773 A 1,975,015
= 746,500
< 223,950
Al 592,308
=ZIHE A S 67,070 53,570 13,500
201 Yet2 | 34,970 30,470 4,500
01 At 22l 34,970 30,470 4,500
O1.det==2Hl 32,450
- 2el et 4,050,000 4,050
ot =HIAN =2 10,400
452 A2 700,000& 128 8,400
s = 50,000& =403l 2,000
-HISHEY /E 4,500, 000& »43] 18,000
O5.2 &l 2,520
=H2e ¥ & 0RA2ZFR 24
7,0003 «3E«10L 128 2,520
202 O4dl 5,100 5,100 0
01 S LHAYI 5,100 5,100 0
O=Hzel gRF=2nHl
60,0003 *3H +x3 +53] 2,700
Odtd s =ZHAH(ESZ=H) 0l
60,000& =403l 2,400
206 T 24 27,000 18,000 9,000
01 =8l 27,000 18,000 9,000
OFZEH 457 180,000& x50 & *33| 27,000
HELAM AL (BEX) 1,495,688 3,484,203 A 1,988,515




AN EF 2l
Ha: NOHALS(HABE/HFRSUY)
& =AH2el (9 ® =)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 746,500
< 223,950
Al 525,238
401 Al HIZ 201 8] 1,495,688 3,484,203 A 1,988,515
= 746,500
< 223,950
Al 525,238
01 A& HI 1,493,000 3,113,000 A 1,620,000
O8& dEs+=X ZdAY
1,493,000,000& 14 1,493,000
= 746,500
< 223,950
Al 522,550
03 A2 S THHI 2,688 4,203 A1,515
Og4t MEIR=X Z&A AIZR0H
1,493,000, 000 *0.36/100*50%<& 2> 2,688
HOI=S X33t 235,525 95,675 139,850
J| 198,000
< 11,000
Al 26,525
HOI2 2el 15,525 15,675 A 150
201 Let24E] 10,485 10,635 A 150
01 At 22l 10,485 10,635 A 150
O1.28t=&H| 5,115
—HoI22el B3| 2,700,000 2,700
“HOIE2 AMESHF SA =2
100, 000& »2JH »22] 400
-HEE dEs M
678,000& 101 2 13 678
-HE&E=8 Xots A2
247 ,000& 101 2 %13 247
-HEEFYH ESEE A E
350,000& 101 2+ 13 350
-HEE=E AFH MR
60,0003 *24 2 23] 240
-HEZELU HIIBAZE A2
500,000& =10 2 *13] 500
O4.101 54l 540
~HIISEALD XEEH 540
ZH= 130,000& »3H 390
2 Xl st 50,000& 3 150
O5.2&Hl 3,780
-AEst2e RFE OFA2ZR|A =4
7,0003 *3H «10L x12& 2,520
-HJIZ2 OHEH Of2tEts 22X =4
7,000 «3H 52«12 1,260




S AT
M NoHsdES(8#ZE5/82E85Yt)
&S HIIE NS (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O6.8x= 1,050
-2X ¥ SYHII2 Mal&EH IX
350,000 *1CH*3& 1,050
202 4l 5,040 5,040 0
01 = LH 4 HI 5,040 5,040 0
OXt&stztel 2=
60,0003 *3H 32 +63] 3,240
ongaadsdd &+ M 2 A
o4 bl 60,0003 x2H 32«53 1,800
AT 2HAS(EX) 220,000 80,000 140,000
J| 198,000
< 11,000
Al 11,000
301 et A=z 220,000 80,000 140,000
J| 198,000
< 11,000
Al 11,000
MIEE4d3 220,000 80,000 140,000
O&dIlo 2 M= 220,000, 000& 220,000
J| 198,000
< 11,000
Al 11,000
=&Y 2el 302,070 101,350 200,720
< 60,000
Al 242,070
OISt 2&s3d4 x4 101,350 101,350 0
201 £B-2dH| 900 900 0
01 At 22l 900 900 0
O1.Let==ZH| 900
MO MRAT BAXB22Y LS|
00,000& 900
401 Al HIZ 2018 100,450 100,450 0
01 A& HI 100,000 100,000 0
OgetXl - AHLMSAX SHEA X L OHA
20,000,000& *3H A 60,000
OANEIIEDNY ¥ =SS EA HWE=
5,000,000 *8H 2 40,000
03 A& S THHI 450 450 0
OLFZ=sEA MHES AIE=20I
100,000, 000& *0.90/ 100*50%< & 2> 450
SEstEA 2L (EX) 200,720 0 200,720
< 60,000
Al 140,720
401 A& HIZ 201 I 200,720 0 200,720
< 60,000




AN EF 2l
Hu: GOHPBS(BYLS/BHLELY)
& SSsEa 2el (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al 140,720
01 A& HI 200,000 200,000
Og4t dER=X 2SS4 &
100,000, 000& * 14! 100,000
< 30,000
Al 70,000
OZLU ofl==2% 2SS4 &
100,000, 000& * 14 100,000
< 30,000
Al 70,000
03 A& =2 THHI 720 720
O=Sst&a ZX ALRU
200,000,000& *0.72/100%50%<& 2¢> 720
Bra SMAE B RS 400,181 34,983
= 131,000
< 44,000
Al 225,181
MHE FE3Y & =X 120,181 34,983
101 124 dl 8,961 3,383
04 JI2ZtHZ22XREES 8,961 3,383
OEAZOERN Mo 8,961
] 44,6403 +2H x90 8,036
A2 D223 8,036,000& *11.5% 925
201 LEr2 Y| 93,860 39,000
01 At 22l 28,760 0
O1.d8 =84l 24,840
-MEHA =sAHE dbt=ZH| 3,600,000& 3,600
-EAZOIEN JtY EES
4003 x3& *2,7005 3,240
-—24INA=0D] EE2 ME
500& x2& *1,8005 1,800
-SEXeles ¥ EE2 MH
45,0003 *60 4 & 2,700
-OES0IEAE AUZIIE2 EES M
5,000 #2Z 180 1,800
“JIFHSF2AAA EES ME
45,000 *60 4 & 2,700
-—SMHEMY AMESRA2L 1,800, 000& 1,800
“HIIHA BHECI RS WEAIE &I|oHA 22|
Hle+2 300,000& *x24l 123 7,200
03.2g8=¢ 560
—HOUMARIES A ESE9: oY
70,0003 x4H «23] 560
Ob5.= &l 3,360
“MEA SMAE HARFA 4
7,0003 «4H«102 122 3,360




A BH22 0
HM: [JHSHAES (TS /SHES YL
SRl MEA SMST B E (B9 ®R)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
02 2324 65,100 26,100 39,000
O1.2Z22=22L Al 48,300
—EFAEOIEN £HOUS ¥ RERS
300& x3,000%& 900
-&IIHA BHE2IASWEAIE &=
900,000 =24l x12& 21,600
-&MIIHA HE2IASUEEE A THHEE2
7,500,000& *2JH A~ 15,000
~SHIIBHA(HEHZIXN=SDESE) ASFEES
3,000,000 =2CH 6,000
-HiEH2IAS LS SESIAAE SAld|
400,000& * 1A x12& 4,800
O3. A& & H| S XYl 9,600
-SMIIHA HiEHel S unEsdEA A2
400,000 x2[H x12& 9,600
O4. XA 8| 7,200
-SMIIBHA(HHEHZI XS DES) SX22
300,000 x2[H *x12& 7,200
202 044l 5,760 5,760 0
01 2L b 5,760 5,760 0
OsMeEtd R |
60,000 4% x4 x63] 5,760
206 M = dl 2,000 4,000 A 2,000
01 X2 bl 2,000 4,000 A 2,000
O=MHEANY WRPY(I2AE S)
2,000,000& 2,000
301 et A= 9,600 15,000 AN5,400
09 HAIAHI BEAZ 9,600 15,000 A5,400
Ogeld &= 10,000& *60H 23| x6 & 7,200
OO AEE 203 ZIFAF Odd]
60,000 x40 13| 2,400
Jlsdggads(Ex) 280,000 280,000 0
= 131,000
o= 44,000
Al 105,000
301 et A= 240,000 240,000 0
= 120,000
o= 36,000
Al 84,000
11 JIEtE A2 240,000 240,000 0
OEAZOIEN EOUHX QAMEIE X2
240,000,000 240,000
= 120,000
= 36,000
Al 84,000




SN BFVD
HH: GOBARS(BALS/HYLSYY
SRl KEA =MAT P RS

)

SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 40,000 40,000 0
= 11,000
< 8,000
Al 21,000
02 QIZtE M AHEE 40,000 40,000 0
O AEE 28 E2MY &
20,000, 000& 20,000
= 6,000
= 3,000
Al 11,000
OXSAl JI=8stunsdE XI& 20,000,000 20,000
= 5,000
< 5,000
Al 10,000
olegzel(Z22s/U421) 939,603 669, 282 270,321
= 205,718
< 53,933
Al 679,952
CHor2tel A 939,603 669, 282 270,321
= 205,718
= 53,933
Al 679,952
HHANARSA BE2(EX) 148,000 185,000 A 37,000
= 74,000
< 22,200
Al 51,800
402 RI2HXt20l ™ 148,000 185,000 A 37,000
= 74,000
< 22,200
Al 51,800
01 A TtE=AEER 148,000 185,000 A37,000
O&HIIA AsSA 2 EX
18,500,000 =8CH 148,000
= 74,000
< 22,200
Al 51,800
HANAKNS K HEH XN (EX) 8,000 8,000 0
= 4,000
< 1,200
Al 2,800
307 21201 A 8,000 8,000 0
= 4,000
< 1,200
Al 2,800
02 UAFAAFEX 8,000 8,000 0
OdaINMATISI Azl XA 8,000,000 8,000
= 4,000
< 1,200




2N
X ZH -
L= B
el

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
| Al 2,800
o3y 2 st3dzm 22 435,110 162,310 272,800
201 et A | 185,110 162,310 22,800
01 At 22l ] 810 810 0
O1.2Bt=2H| 810
—tHoIE=84A L SF3MZT M) &Y &3
ot Xl Ch 90,000& *9JH A 810
02 332494l 184,300 161,500 22,800
O1.2Z2222HA 46,800
- A2 19,800
HIIR22 500,000 304 A~ +12& 18,000
HNESNH ANEZ 50,000 *33] & x12& 1,800
-oEsd A 24,000
HIIR2 200,000& *5J0 2~ x12& 12,000
BN MESE 200,000& x53| & x12& 12,000
-CH Dl EX3A HH2E2(ES 3, Z2)
600, 000& 54 A 3,000
O3. A& &#HI K X bl 137,500
-SHEZHIAE &Hl =& 1,000,000 1 A 1,000
-tHoIE = EH 22l 1,500,000& 1= 1,500
-StAEZE S22 15,000, 000& *2J4 A~ 30,000
-toILEEEH A~ S22
17,000, 000& x50 A 85,000
—SHFME L DMK BEAAE A2
4,000, 000& x50 A 20,000
401 AIEHIL 20| 250,000 0 250,000
01 A& HI 250,000 0 250,000
Ostzds=2d8zo WH 250,000, 000& 1A 250,000
olstd 2| 22 132,566 118,332 14,234
201 LBt A H| 94,836 85,956 8,880
01 At 22l b 79,610 79,280 330
O1.8t=2H| 20,250
-CHol&tel det4=gH| 3,600, 000& 3,600
-9t 2 o] 2 DIRACE A E |o=&
28 =g 130, 000& *503] 6,500
- FAlS LEB RO 30, 000& = 1004 3,000
-UolAas SHEH 29 422 o1
100,000& x5& *23] 1,000
-Uoegedx 22 8 ME
500& *2Z *9000H 900
-tol12g s+ i ===
400,000& =10 *13] 4,000




2N
X ZH -
L= B

el

A ZE a9 (3) - HRAY - BYS Ol &t o il 2
-0lEX BHEJtA EIIFEAL S XA K
B 100& *2,50024 53| 1,250
Ob5.= &l 3,360
“Uo1Ed HRFA U2 RL =4
7,0003 x4H«102 122 3,360
O6.2xt=z 56,000
-2USE DNMER A8 =X X
8,000,000 100 2«78 56,000
02 =224l 15,226 6,676 8,550
O1.2Z2SZHA 12,726
~R0IHTE)| SMR3
12,000 40 A+ 123 576
—E#d)|=0 W] AT SES LS RERS
300& 2,000 600
-AHUHE E DMEX 22 SXHAIX &S
153 40024 *3003] 1,800
“AFHUEAAE OOIH Saldl
50,0003 50 & x12& 3,000
-0IEXt &AL HIIAM HUHE(SSE)L
S RERS 300& *2,00021 *53] 3,000
-0lEXt BHEJtA HOIZ A WEHEDXNA &
S RERS 300& *2,50021 *53] 3,750
O3. A& & Hl s Xt 2,500
-Uolas8 EEEH =2 500,000& *5& 2,500
202 oddl 7,200 7,200 0
01 SLHOIYI 7,200 7,200 0
OUIl & AdHFHAIZE HAAZ Gl
60,000 «1H x4 «12& 2,880
Oolol2eld: F&0u|
60,000 *4H »32 63| 4,320
301 L2 A Z 25,530 25,176 354
0B M ERRIABAS 4,550 4,196 354
OME=E2R23 4,550
-Jlg=s 149,000 x1H 128 1,788
-S4l 7,0003 x1H«22 128 1,848
nE=g:] 2,4003 x1H +22U «12& 634
-0 =4 140,000 =12 23] 280
09 A HIE &S 18,980 18,980 0
ORSZZUENLAAL FAT S4
,000& »70H 23] 980
OLFHIUEHRA =H 24
30,000 x50 «12& 18,000
MIEE43 2,000 2,000 0
Ogdg &l B4z 50,000& »40AH 2,000
405 RHoHF S HI 5,000 0 5,000




AN EF 2l
Fu: golegel (BF2S5/00)
chels thol2el At (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 et EFFHSHI 5,000 0 5,000
Otxg dM s&D| 5,000,000 = 1CH 5,000
CHol &g 2tel 5,100 5,240 A 140
201 Let24d]| 5,100 5,240 A 140
01 At 2teltl 5,100 5,240 A 140
O1.dBt=2H| 5,100
-NEAHEA FSHI WHEFRLY
300,000& *128 3,600
-KNSIEHEOtA SEHIIJ] S Z At
100,000& 53 500
-NSXHEOtA B3 MEXNSE EEMEX
SIS 100& %10,000& 1,000
N=AHUEXI(EXR) 98,000 182,000 A 84,000
= 70,000
< 14,000
Al 14,000
402 QI2H X201 M 98,000 182,000 A 84,000
= 70,000
< 14,000
Al 14,000
01 It AL E X 98,000 182,000 A 84,000
OM=AHU4 &X 6,125,000 x 164! 98,000
= 70,000
< 14,000
Al 14,000
SZERALZANMATRS 2YH N/J(BEX) 7,827 8,400 AB73
= 5,218
< 783
Al 1,826
307 glz2+ol & 7,827 8,400 AB73
= 5,218
< 783
Al 1,826
02 HAFHAANGEEX 7,827 8,400 AB73
O==Xs=ZIIJIELX & 2d22d X&
7,827,000 * 104 & 7,827
= 5,218
< 783
Al 1,826
HIIS3EHES(BEX) 105,000 0 105,000
= 52,500
< 15,750
Al 36,750
401 Al HIZ 2018 105,000 0 105,000
= 52,500
< 15,750




2 P22 Y
MM oA (8BEBS /D)
oY D22l ALY (&9 &)
_ _ _ SHE|
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 36, 750
01 Al&HI 105,000 0 105,000
OWIISEHH &= 35,000,000 34! 105,000
=2 52,500
< 15,750
Al 36,750
HHMSAHH| (S22l W) (IIEH/IIEH) 65,064 78,134 A 13,070
l=adl(ey &) 65,064 78,134 A 13,070
2 A2 8,064 9,134 A1,070
201 B2 8,064 9,134 A1,070
01 At 22l H 7,584 8,054 A470
ORN2Y L2 4,250,000 4,250
ORN2Y S 1,750,000 1,750
O=AD 2t 132,000 x1CH 122 1,584
02 2229 480 1,080 A 600
ORN2Y 2222 480,000 480
2 EZF O H| 52,800 64,800 A 12,000
202 OiH| 52,800 64,800 A 12,000
01 2ol 52,800 64,800 A 12,000
OFQAPFZF0IH 20,0002 228 10 x 122 52,800
AR EXH 4,200 4,200 0
203 PR EXH| 4,200 4,200 0
04 EN2IAREAY| 4,200 4,200 0
ORN2HARZEH (HA:25%)
350,000 122 4,200




